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Statement II is correct: Indian Model of secularism opposes the concept of strict separation of religion and state. This 

believes in equal treatment to all religions.  

Statement III is incorrect: Indian secularism deals not only with religious freedom of individuals but also with religious 

freedom of minority communities. Art. 26 and Art. 30 of Indian Constitution are the manifestation of religious freedom 

to group and not just to individual.  

Statement IV is incorrect:  Western secularism has no place for the idea of state-supported religious reform. This 

feature follows directly from its understanding that the separation of state from church/religion entails a relationship of 

mutual exclusion. 

Thus, Option B is correct.  

3.   

Statement I is incorrect: The Chief Election Commissioner presides over the Election Commission and but does not have 

more powers than the other Election Commissioners. 

Statement II is incorrect: The President appoints the Chief Election Commissioner and Election Commissioners on the 

advice of Council of Ministers. 

Statement III is incorrect: They are appointed for a six year term or continue till the age of 65 whichever is earlier. 

Statement IV is incorrect: The Chief Election Commissioner can be removed by the President if the parliament makes 

such recommendation with special majority but the Election Commissioners can be removed by the President on the 

recommendation of CEC.  

Thus, Option D is correct.  

4.   

All the statements are correct.  

Thus, Option D is correct.  

5.   

Statement I is correct: This is directly stated in the Art. 53 of Indian Constitution.  

Statement II is correct: The Union Executive overall comprises of the President, Vice-President, Prime Minister, Council 

of Ministers and the Attorney General. The statement in the question does not use the word ‘only’ and therefore it is 

correct.  

Statement III is incorrect: The Prime Minister allocates ranks and portfolios to the ministers. 
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Thus, Option B is correct.  

6.   

Statement I is incorrect: Art. 75(3) state that the Council of Ministers is collectively responsible to the Lok Sabha and not 

the Parliament.  

Statement II is correct: The death or resignation of the Prime Minister automatically brings the dissolution of Council of 

Ministers but the demise, dismissal or resignation of a minister only creates a ministerial vacancy. 

Statement III is correct: Art. 78(1) imposes a constitutional obligation upon the Prime minister to communicate to the 

President all the decisions of Council of Ministers relating to the administration of the affairs of the Union and proposals 

of the legislation.  

Thus, Option C is correct.  

7.   

Statement I is correct: In PR system more than one representative may be elected from one constituency but in First 

Past the Post System (FPTP) every constituency elects one representative. 

Statement II is incorrect: The voters exercise their preference for a party and not a candidate in Proportional 

Representation. The preference for a candidate is in First Past the Post System (FPTP). 

Statement III is correct: In FPTP candidates who win the election may not get majority votes. 

Thus, Option B is correct.  

First Past the Post (FPTP) System Proportional Representation (PR) System 

 The country is divided into small geographical 
units called constituencies.  

 Large geographical areas are demarcated as 
constituencies. The entire country may be a 
single constituency.   

 Every representative elects one representative.   More than one representative may be elected 
from one constituency.  

 Voter votes for a candidate.   Voter votes for the party. 

 A party may get more seats than votes in the 
legislature.  

 Every party gets seats in the legislature in 
proportion to the percentage of votes that it 
gets.  

 Candidate who wins the election may not get 
majority (50% + 1) votes.  

 Candidate who wins the elections gets majority 
of votes.   

 Examples: UK, India   Examples: Israel, Netherlands. 
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8.  

Statement I is correct: The Constitutional Amendment Bill must be passed in each House by a special majority and there 

is no provision for holding a joint sitting of the two Houses if there is a disagreement between the two houses.  

Statement II is correct: The impeachment charges against the President can be initiated by either House of the 

President and such a resolution has to be passed by two-third majority of the total membership of each house 

separately.   

Statement III is incorrect: The Rajya Sabha has no power to vote on the demand for grants; it is the exclusive privilege of 

the Lok Sabha. 

Statement IV is correct: The proclamation of Emergency must be approved by both the Houses of Parliament within one 

month from the date of its issue.  

Statement V is correct: A financial bill (II) contains provisions involving expenditure from the Consolidated Fund of India, 

but does not include any of the matters mentioned in Article 110. It is treated as an ordinary bill and in all respects, it is 

governed by the same legislative procedure which is applicable to an ordinary bill. Therefore, both the Houses have 

equal powers.  

Thus, Option B is correct. 

9.   

Statement I is incorrect: Parliament comprises of President, Lok Sabha and Rajya Sabha. 

Statement II is correct. 

Statement III is incorrect: Judiciary has the power to decide whether various provisions are part of basic structure of the 

constitution. 

Thus, option A is correct. 

10.  

Both the statements are correct.  

Thus, Option C is correct. 

11.   

Statement I is incorrect: The Electoral College comprise of elected member of both the houses of parliament not the 

nominated members of both the houses of parliament. 
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Statement II is correct: The Constitutional Amendment bill must be passed by both the houses of parliament by special 

majority. 

Statement III is incorrect: Impeachment of President can be initiated by either house of parliament but the removal of 

Vice-President can alone be initiated by the Rajya Sabha. 

Thus, Option D is correct.  

12.    

Statement I is incorrect: A judge of the Supreme Court can be removed only on the ground of ‘proved misbehavior’ or 

‘incapacity’. 

Statement II is incorrect: For the removal of judges the motion should be passed by special majority in both the houses 

of parliament. 

Statement III is correct: It is true that so far no judge of the Supreme Court has been removed, but there was one single 

case that was put forth in the Lok Sabha against V Ramaswami (1991-1993). 

Thus, Option A is correct.  

13.   

Option I is incorrect: Sixty-first Amendment Act- Reduced the age from 21 years to 18 years for the Lok Sabha and state 

legislative assembly elections. 

Option II is incorrect: Eighty-Sixth Amendment Act- Made elementary education a fundamental right. 

Option III is correct: Ninty-First Amendment Act- The total number of ministers, including the Prime Minister in the 

central Council of Ministers shall not exceed 15% of the total strength of the Lok Sabha. 

Option IV is incorrect: Ninety-Seventh Amendment Act- Gave a constitutional status and protection to co-operative 

societies. 

Thus, Option C is correct.  

14.  

Option A is correct: Original jurisdiction settles disputes between union and states and amongst states. 

Option B is incorrect: Appellate jurisdiction tries appeals from lower courts in civil, criminal and constitutional cases. 

Option C is incorrect: Advisory jurisdiction advises president on matters of public importance and law. 

Option D is incorrect: Writs can be issued to protect the fundamental rights of the individual.  
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Thus, Option A is correct.  

15.  

Statement I is correct: The Constitution (Article 143) authorises the President to seek the opinion of the Supreme Court 

in the two categories of matters: 

 On any question of law or fact of public importance which has arisen or which is likely to arise. 

 On any dispute arising out of any pre-constitution treaty, agreement, covenant, engagement or other similar 

instruments. 

Statement II is correct: In the first case, the Supreme Court may tender or may refuse to tender its opinion to the 

president. But, in the second case, the Supreme Court 'must' tender its opinion to the president. 

Statement III is incorrect: President is not bound to accept the advice given by the Supreme Court. 

Thus, Option B is correct. 

16.   

Statement I is incorrect: Article 1(1) India, that is Bharat, shall be Union of states. 

Statement II is incorrect:  

Article 1(3) the territory of India shall comprise- 

 Territories of state; 

 The union territories specified in the First schedule; and 

 Such other territories as may be acquired. 

Thus, Option D is correct.  

17.   

Statement I is incorrect: Gram Sabha comprises of all the adult members registered as voters in the Panchayat area. 

(Art. 243) 

Statement II is correct: All the members of the Panchayat at the village, intermediate and district levels shall be elected 

directly by the people. (Art. 243C(2)) 

Statement III is correct: If the Panchayat is dissolved before the completion of its term, fresh elections must be held 

within six months of its dissolution. It is an important provision that ensures the existence of elected local bodies. (Art. 

243E(2)) 

Thus, Option C is correct.  
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18.   

Statement I is correct: One-third positions in all Panchayati institutions are reserved for women. This reservation is not 

merely in general category seats but also within the seats reserved for Scheduled Caste and Schedules tribes. This means 

that a seat may be reserved simultaneously for a woman candidate and one belonging to the Scheduled Caste or 

Scheduled tribes. 

Statement II is incorrect: Reservation of Scheduled Castes and Scheduled tribes in all three levels are provided for all the 

three levels, in proportion to their population. It is left on the state to provide for the reservation of backward classes if 

they find it necessary. 

Statement III is correct: The State government is required to appoint State Election Commissioner who will be 

responsible for conducting elections to the Panchayati Raj Institutions. 

Statement IV is correct: The State government is required to appoint State Finance Commission once in five years to 

examine the financial position of the local governments in the states. 

Thus, Option C is correct.  

19.   

Statement I is incorrect: All the amendments to the constitution can be initiated in either House of the Parliament.  

Statement II is incorrect: President has no power to send it back for reconsideration. The President has to give assent to 

the constitutional amendment bill. 

Statement III is correct: Article 2 and Article 3 states that parliament by law can admit or form new states into the union 

and that these can be modified by the parliament without recourse to the procedure laid down in article 368. 

Thus, Option B is correct.  
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20.   

Option B is correct.  

21.   

Statement I is incorrect: Fundamental Duties were included in the constitution by 42nd Constitutional Amendment, 

1978. 

Statement II is incorrect: They are included in the Part-IV A of the constitution. 

Statement III is correct: Fundamental duties are non-justiciable in nature. The constitution does not provide for their 

direct enforcement by the  

Thus, Option C is correct.  

22.   

Statement I is correct: Idea of rule of law is borrowed from the British constitution. 

Statement II is incorrect: Charter of Fundamental Rights borrowed from United States. 

Statement III is correct: Parliamentary form of government borrowed from British government. 

Statement IV is incorrect: Idea of residual powers was taken from the Canadian government. 

Statement V is incorrect: Quasi-federal form of government was taken from the Canadian government. 

Thus, Option A is correct.  

23.  

Option D is correct. This is a part of Fundamental Duties in Part – IVA of the Constitution.   

24.   

Statement I is correct. 

Statement II is correct: DPSP’s are non-justiciable in nature. The government is not compelled to implement them. 

Statement III is correct.  

Statement IV is correct: Examples of this are Numerous factory laws enacted, Cottage and small industries were 

promoted, Wildlife Protection Act, etc.  

Thus, Option D is correct.  
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25.   

Statement I is correct. 

Statement II is correct: Fundamental rights are protected and guaranteed by the constitution of the country.  

Statement III is correct. 

Statement IV is incorrect: Judiciary has the power and responsibility to protect the fundamental rights from violations.  

Statement V is incorrect: Fundamental rights are not absolute rights; government can put reasonable restrictions. 

Therefore, Statements I, II and III are correct. There is no such option given. 

26.  

Statements I is correct: (No Double Jeopardy) - No person shall be prosecuted and punished for the same offence more 

than once. 

Statement II is incorrect. No person shall be convicted of any, offence except for violation of a law in force at the time of 

the commission of the act. However, this limitation is imposed only on criminal laws and not on civil laws or tax laws. 

Statement III is correct: No person accused of any offence shall be compelled to be a witness against himself. The 

protection against self-incrimination extends to both oral evidence and documentary evidence. However, it does not 

extend to (i) compulsory production of material objects, (ii) compulsion to give thumb impression, specimen signature, 

blood specimens, and (iii) compulsory exhibition of the body. 

Thus, Option B is correct.  

27.  

Option D is correct.  

28.   

Option C is correct.   

29.   

Statement I is incorrect: Minority has been mentioned in the constitution in Articles 29 and 30. 

Statement II is incorrect: Minority has not been defined in the constitution. 

Statement III is incorrect: Article 30 includes linguistic and religious minorities but not cultural minorities. 

Thus, Option D is correct.  
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30.   

Statement I is correct: Writ of prohibition is issued by a higher court to a lower court or a tribunal to prevent the latter 

from exceeding its jurisdiction or usurping a jurisdiction that it does not possess. The writ of prohibition can be issued 

only against judicial and quasi-judicial authorities. It is not available against administrative authorities, legislative bodies, 

and private individuals or bodies. 

Statement II is incorrect: Quo Warranto is issued by the court when it finds that a person is holding office but is not 

entitled to that office. This can be sought by any interested person and not necessarily by the aggrieved person. 

Statement III is incorrect: Certiorari is issued by the higher court to lower court to transfer a matter pending before it to 

higher authority. Thus, unlike prohibition, which is only preventive, certiorari is both preventive as well as curative. 

However, certiorari can be issued even against administrative authorities affecting rights of individuals. 

Thus, Option A is correct.  

31.  

Statement I is incorrect: It is composed of former Chief justice of Supreme Court, former judge of Supreme Court, chief 

justice of High Court and two other members who have knowledge and practical experience in matter relating to human 

rights. 

Statement II is correct. 

Statement III is incorrect: It can only make recommendation which the court and government are not bound to accept. 

Statement IV is incorrect: The commission’s function includes inquiry at its own initiative or petition presented to it by 

the victim into complaint of violation of human rights. 

Thus, Option A is correct.  

32.   

Option A is correct.  

33.  

All the statements are correct.  

Option D is correct. 

34.   

Statement I is correct: Fundamental Rights (Article 12-35, Part III) clearly establish a secular, equitable, just and non-

exploitative social fabric in India. 
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Statement II is correct: Fundamental Duties (Part IV A, Article 51A) provide a secular, fraternity and a patriotic aspect to 

the Indian citizens by making them respect the constitution, national flag, asking them render services to the nation and 

mankind etc. 

Statement III is correct: Directive Principles of State Policy does so by providing for a more equitable work culture in 

men and women, minimizing inequalities in social and economic status, establishing the ideal of a welfare society. 

Thus, Option D is correct.  

35.   

Statement I is correct: The Constitution lays down a special procedure for the passing of money bills in the Parliament. A 

money bill can only be introduced in the Lok Sabha and that too on the recommendation of the President. 

Statement II is correct: The Rajya Sabha has restricted powers with regard to a money bill. It cannot reject or amend a 

money bill. It can only make the recommendations. It must return the' bill to the Lok Sabha within 14 days with or 

without recommendations. 

Statement III is correct: When a money bill is presented to the president, President may either give his assent to the bill 

or withhold his assent to the bill but cannot return the bill for reconsideration of the Houses. 

Thus, Option B is correct.  

36.   

Statement I is correct: Question Hour is the first hour of a sitting session of India's Lok Sabha devoted to questions that 

Members of Parliament raise about any aspect of administrative activity. The concerned Minister is obliged to answer to 

the Parliament, either orally or in writing, depending on the type of question raised. 

Statement II is correct: Adjournment motion is introduced in the Parliament to draw attention of the House to a definite 

matter of urgent public importance, and needs the support of 50 members to be admitted. As it interrupts the normal 

business of the House, it is regarded as an extraordinary device. It involves an element of censure against the 

government and hence Rajya Sabha is not permitted to make use of this device. The discussion on an adjournment 

motion should last for not less than two hours and thirty minutes. 

Statement III is correct: Parliamentary committees: The principal purpose of parliamentary committees is to perform 

functions which the Houses themselves are not well fitted to perform, that is, finding out the facts of a case, examining 

witnesses, sifting evidence, and drawing up reasoned conclusions. 

Thus, Option D is correct.  

37.  

Statement I is correct: India is among the very few countries which granted adult suffrage to its all the adult citizens as it 
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got independence. 

Statement II is incorrect: Voting age was fixed at 21 for general election in India after independence. 

Statement III is correct: The Sixty-First Amendment of the Constitution of India, officially known as The Constitution 

(Sixty-first Amendment) Act, 1989, lowered the voting age of elections to the Lok Sabha and to the Legislative 

Assemblies of States from 21 years to 18 years. This was done by amending Article 326 of the Constitution, which 

concerns to elections to the Lok Sabha and the Assembly. 

Thus, Option B is correct.  

38.   

Option C is correct.  

39.   

Statement I is incorrect: The term ‘Federation’ has nowhere been used in the Constitution. Article 1 describes India as a 

‘Union of States’. Thus, Indian Federation is not the result of an agreement by the states. 

Statement II is incorrect: No state has the right to secede from the federation. So, a secessionist movement by say the 

state of Nagaland is not legitimate and constitutional. 

Statement III is incorrect: USA represent true federal structure government, while in India we practiced ”Pseudo Federal 

Structure”. Therefore, the Indian Constitution has been variously described as ‘federal in form but unitary in spirit’. 

Thus, Option D is correct.  

40.   

Statement I is correct: To be recognised as a national party, the party has won 2 per cent of seats in the Lok Sabha (11 

seats) from at least three different states in the latest general election. 

Statement II is correct: To be recognised as a national party, a party has to got recognition as a state party in at least 

four states. 

Statement III is incorrect: The correct statement would be “In General Elections, the party must manage to win six per 

cent of the votes and win at least four Lok Sabha seats.” 

Thus, Option B is correct.   

41.   

Statement I is correct: A democratic polity can be classified into two categories – monarchy and republic.  
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Statement II is incorrect: President is head of the state in parliamentary democracy but a president is head of the 

government in presidential form of democracy.   

Statements III and IV are correct. 

Thus, Option C is correct.   

42.   

Option D is correct: Cabinet collective responsibility is related to the fact that, if a vote of no confidence is passed in Lok 

Sabha (not Parliament), the government is responsible collectively, and thus the entire government resigns. The 

consequence will be that a new government will be formed, or parliament will dissolve and a general election will be 

called.  

Cabinet collective responsibility is not the same as individual ministerial responsibility, which states that ministers are 

responsible and therefore culpable for the running of their departments. 

43.   

All the statements are correct. 

Thus, Option D is correct.  

44.   

Statements I and II are correct:  

Statement III is incorrect: There cannot be any discrimination in this access on the basis of caste, race, sex, religion or 

place of birth. 

Statement IV is incorrect: Reservation policy owes its constitutionality from Art. 14 and Art. 15(5). 

Thus, Option B is correct.  

45.   

All the statements are correct.  

Thus, Option D is correct.  

46.  

Option C is correct. (Discussed in the Class) 
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47.   

Statement I is incorrect: Indian Constitution has adopted FPTP system for the election of member of Parliament and 

member of Legislative Assembly. The Constitution also prescribed PR System (Single Transferable Vote System) for the 

election of the President, Vice-President and for the election to the Rajya Sabha and Vidhan Parishad.  

Statement II is correct. 

Statement III is incorrect: Normally, the working of the FPTP system results in a two-party system. This means that there 

are two major competitors for power and power is often shared by these two parties alternately. It is difficult for new 

parties or the third party to enter the competition and share power. In this respect, the experience of FPTP in India is 

slightly different. The distinguishing feature of India’s party system is that the rise of coalitions has made it possible for 

new and smaller parties to enter into electoral competition in spite of the FPTP system. 

Thus, Option A is correct.   

48.   

Statement I is correct: The constitution has not prescribed the qualifications of the members of Election Commission. 

Statement II is incorrect: The constitution has not debarred the retiring Election Commissioners from any further 

appointment by the government. 

Statement III is correct: During the election process, the administrative officers of the State and central governments 

are assigned election related duty and in this respect, the Election Commission has full control over them. The EC can 

transfer the officers, or stop their transfers; it can take action against them for failing to act in a non-partisan manner. 

Thus, Option B is correct.  

49.   

Statements I and II are correct. 

Statement III is incorrect: During emergency the central government becomes powerful and converts the federal 

structure into a unitary structure. 

Statement IV is incorrect: The members of these services are recruited and trained by the centre which also possesses 

ultimate control over them. This violates the principle of federalism under the constitution. 

Statement V is correct.  

Thus, Option A is correct. 
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50.   

Statements I and III are correct. 

Statement II is incorrect: It can be moved against the entire council of ministers only. 

Thus, option B is correct. 

51.  

All the criteria are necessary for a town to be called a Census Town.  

Thus, Option D is correct.  

52.  

Statement I is incorrect: Constitutions are not necessarily written documents. It can be an unwritten constitution like 

Britain’s Constitution.  

Statement II is incorrect: A country that has a constitution is not necessarily a democratic country.  

Statement III is incorrect: The constitution spells out the ideals the citizens believe that their country should uphold.  

Statement IV is correct.  

Thus, Option A is correct.  

53.  

Option A is correct.  

54.  

Statement I is correct. 

Statement II is incorrect: It is mentioned in the Tenth Schedule of the constitution. 

Statement III is incorrect: Independent and nominated members come under the purview of this law. Independent 

member of a house becomes disqualified to remain a member of the house if he joins any political party after election. 

Nominated member of a house becomes disqualified if he joins any political party after the expiry of six months from 

the date on which he takes his seat in the house.  

Thus, option A is correct. 

55.   

All the statements are correct. 



INSIGHT GEN.STUDIES & CSAT 

Central Delhi: 60/17, Above Subway, Old Rajinder Nagar, Delhi-110060 

North Delhi: B-18, Satija House, Main Road, Dr. Mukherjee Nagar, Delhi -110009 

Ph: 011 - 45090051, 9818333201, 9871216382 

Thus, Option D is correct.  

56. 

Statement I is incorrect: The Delimitation Commission is appointed by the President of India.   

Statements II, III and IV are correct. 

Thus, Option C is correct.  

57.  

All the statements are correct.  

Thus, Option D is correct.  

58.   

All the statements are correct.  

Thus, Option D is correct.  

59.   

Statement I is correct.  

Statements II is incorrect: President is head 

of the state and Prime Minister is the head 

of the government in a in a parliamentary 

system and semi-presidential system. 

Countries with parliamentary system include 

Germany, Italy, Japan, United Kingdom as 

well as Portugal. Countries with a semi-

presidential system include France, Russia, 

Sri Lanka, etc. 

Statement III is incorrect: The executive is 

not accountable to the legislature only in 

Presidential system unlike other systems 

where Executive is accountable to 

Legislature.  

Thus, Option A is correct.  
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60.   

All the statements are correct. (Remember this) 

Thus, Option D is correct.  

61.  

Option B is correct. The Vice-President can be removed by a resolution initiated in the Rajya Sabha passed by an 

effective majority (ie, a majority of the then members of the House) and agreed to by the Lok Sabha. 

62.   

Statements I is incorrect: The socialism does not denote about the citizens having equal right to vote.  

Statement II is correct: The word 'sovereign' implies that' there is no authority above it and it is free to conduct its own 

affairs (both internal and external). 

Thus, Option B is correct.  

63.   

Statements I and III are correct:  

Statement II is incorrect: This doctrine has not paved the way for the judicial supremacy in India. There is neither 

supremacy of judiciary or Parliament in India. It is the constitutional supremacy in India.  

Thus, Option B is correct.  

64.   

All the statements are correct.  

Thus, Option D is correct.  

65.   

Statements I, II and III are correct:  

Statement IV is incorrect: The Objectives Resolution was adopted by the Constituent Assembly as the Preamble of the 

Indian Constitution with some modifications. 

 The committee adopted the expression ‘Sovereign Democratic Republic’ in place of ‘Sovereign Independent 

Republic’ as used in the “Objective Resolution,”. 

 The committee added the word Fraternity which was not present in the Objective Resolution. 
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Thus, Option B is correct.  

66.  

Option D is correct. There are three more restrictions – Contempt of Court, Defamation or Incitement to an Offence.   

67.   

Statement I is incorrect: The Constitution forbids the employment of children below the age of 14 years only in 

hazardous factories. 

Statement II is incorrect: Indian Constitution guarantees freedom of religion subject to certain restrictions like public 

order, morality and health.   

Statement III is correct.  

Thus, Option A is correct.  

68.   

Option C is correct. Election of the President is a federal feature and therefore any change in the method of election of 

President requires an amendment of the constitution passed by the parliament with special majority and the ratification 

of atleast half of the state legislatures with simple majority.      

69.   

Option A is correct. (Discussed in the Class) 

70.  

All the statements are correct.  

Thus, Option D is correct.  

71.  

All the statements are correct.  

Thus, Option D is correct.  

72.   

All the statements are correct.  

Thus, Option D is correct.   
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73.   

Statement I is incorrect: The Vice-President is elected not directly by the people but by the method of indirect election. 

The electoral college of Vice-President is different from the electoral college for the election of the President in the 

following two respects: 

 It consists of both elected and nominated members of the Parliament unlike in the President where only 

elected members are allowed.  

 It does not include the members of the state legislative assemblies as in the case of President, only the elected 

members of the state legislative assemblies are included.  

Statement II is correct.   

Statement III is correct: The Vice-President takes over the office of the President when there is a vacancy and acts as the 

President till the time next-President is elected.  

Thus, Option A is correct.  

74.   

Option B is correct.  

75.  

A Public Interest Litigation (PIL) can be filed in any High Court or directly in the Supreme Court. 

Thus, Option C is correct.  

76.   

Statement I is correct: Article 356 empowers the President to issue a proclamation, if he is satisfied that a situation has 

arisen in which the government of a state cannot be carried on in accordance with the provisions of the Constitution. 

Notably, the president can act either on a report of the governor of the state or otherwise too (even without the 

governor's report). 

Statement II is incorrect: A proclamation imposing President’s Rule must be approved by both the Houses of Parliament 

within two months from the date of its issue.  

Thus, Option A is correct.  

77.   

Statement I is correct: The ‘Union of India’ includes only states while the ‘territory of India’ includes not only the states 

but also union territories and territories that may be acquired by the Government of India at any future time. 
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Statement II is incorrect: The constitution does not contain any specific provisions for the administration of acquired 

territories. 

Statement III is incorrect: India has acquired several foreign territories such as Dadra and Nagra Haveli; Goa; Daman and 

Diu; Puducherry and Sikkim since the commencement of the Constitution. 

Thus, option A is correct. 

78.   

Statement I is incorrect: Parliament has the power to abridge or take away any of the Fundamental Rights which do not 

comprise basic structure of the constitution. 

Statement II is incorrect: The word ‘law’ in Art. 13 does not includes Constitutional Amendment. 

Thus, option D is correct. 

79.  

Option A is correct.  

80.   

All the statements are correct. 

Thus, Option D is correct.  

81.  

Statement I is correct: Codex Alimentarius Commission is an organisation that develops independent science based 

international food standards. The Codex is based in Rome and funded jointly by the FAO and the WHO. 

Statement II is incorrect: World Trade organisation (WTO) deals with global rules of trade between nations and settles 

trade disputes. However, it is relevant to point out that not all member countries of Codex are members of the WTO. 

Thus, option A is correct. 

82.  

Statement I is incorrect: GSTN is a not for profit organisation owned by government and private players jointly.  

Statement II is correct: GSTN has been entrusted with the responsibility of building Indirect Taxation platform for GST to 

help you prepare, file, rectify returns and make payments of your indirect tax liabilities. 

Statement III is correct: Rs 10 crore is authorized capital for GSTN operation. It can be increased on requisite basis. 



INSIGHT GEN.STUDIES & CSAT 

Central Delhi: 60/17, Above Subway, Old Rajinder Nagar, Delhi-110060 

North Delhi: B-18, Satija House, Main Road, Dr. Mukherjee Nagar, Delhi -110009 

Ph: 011 - 45090051, 9818333201, 9871216382 

Thus, Option C is correct.  

About GSTN 

GSTN was registered as a section 25 not-for-profit company under the companies Act in 2013 with an authorised 

capital of Rs.10 crore to set up and operate the information technology backbone of the GST. While the Central and 

the state governments hold a combined stake of 49%, the remaining 51% stake is divided among five financial 

institutions—LIC Housing Finance with 11% stake and ICICI Bank, HDFC, HDFC Bank and NSE Strategic Investment 

Corporation Ltd with 10% stake each. 

 
83. 

Statement I is correct: During the two day DGP/IGP conference of North eastern states which started on July 29, NEPOL 

and cyber dome were proposed to be launched to facilitate cooperation between the states of the region in tackling 

insurgency, cross border crime and smuggling. 

 Statement II is correct: It is established on the lines of INTERPOL to facilitate smooth functioning of security agencies in 

the region, due to insurgency in the region and also due to North eastern states share over 4500km long border with 

Bangladesh, China, Myanmar and Bhutan. India and Bangladesh share a 4,096-km-long border, of which 262 km falls in 

Assam. Hence, cooperation among the police forces between the states is necessary. 

Thus, Option C is correct.  

About Interpol 

Interpol is the world’s largest international police organization, with 184 member countries. Created in 
1923, it facilitates cross-border police co-operation, and supports and assists all organizations, authorities 
and services whose mission is to prevent or combat international crime. 

Interpol aims to facilitate international police co-operation even where diplomatic relations do not exist 
between particular countries. Interpol’s constitution prohibits ‘any intervention or activities of a political, 
military, religious or racial character.’ 

 
84. 

Statement I is correct: National Biopharma Mission is a first ever Industry-Academia mission to accelerate 

biopharmaceutical development in India. 

Statement II is correct: The programme will specifically focus on the development of new vaccines, bio-therapeutics, 

diagnostics and medical devices to better address the rising burden of diseases in the country.  

Statement III is incorrect: It is a Mission Programme of Department of Biotechnology, and will be implemented by 

Biotechnology Industry Research Assistance Council (BIRAC) a Public Sector Undertaking of the Department. 
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Thus, option B is correct. 

85. 

Statement I is correct: The Assam government is going to raise a new Special Rhino Protection Force (SRPF) for better 

protection of the one-horned rhinos in Assam. 

Statement II is incorrect: Assam one-horned rhinoceros is the largest of the Asian Rhinos. 

Statement III is correct: Indian Rhino Vision (IRV) 2020: It is a partnership the Assam Forest Department, World Wide 

Fund for Nature (WWF), Bodoland Territorial Council, International Rhino Foundation (IRF) and US Fish and Wildlife 

Service. Its goal is to attain a wild rhino population of at least 3,000 in the Indian state of Assam by the year 2020. 

Thus, option B is correct. 

86. 

Statement I is incorrect: Kambala is the traditional slush track buffalo race. 

Statement II is incorrect: It is held annually in coastal districts of Karnataka to entertain rural people of the area. 

Thus, option C is correct. 

About Kambala 

It is a traditional sport mainly held in rural Karnataka. The race is organised between two pairs of buffaloes, 

in the wet rice fields, filled with slush and mud. Both pair of buffaloes are under the control of a farmer on 

each of them. In earlier times, winning pair used to be awarded with coconuts and plantains, but with 

changing times, they are rewarded with huge prizes including gold coins. Buffaloes who are nurtured for the 

race are carefully taken care of. Some owners event build separate swimming pool for them to make them 

get used to conditions before every race. 

Belief: According to one belief, Kambala is a festival that originated in the farming community of Karnataka 

around 800 years back. The festival is dedicated to Kadri's Lord Manjunatha, an incarnation of Lord Shiva. It 

is believed to be celebrated to please the Gods for a good harvest. It is a form of recreational sport for the 

farming community and also another belief is that it is considered as the Sport of the royal (landlord) Family.  

 

 
87. 

Statement I is incorrect: white tiger are also found in Siberia, USA, JAPAN etc. 

Statement II is correct: In 2016, Bandhavgarh (MP) was declared world's first white tiger sanctuary. 
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Statement III is correct: For the first time in the Nilgiris, Wild-Life photographer captured a rare ‘white tiger’ with pale 

skin colour. 

Thus, option C is correct. 

88. 

Statement I is correct: It is mandated by the United Nations General Assembly to promote socially and environmentally 

sustainable towns and cities with the goal of providing adequate shelter for all. It is a member of the United Nations 

Development Group. The mandate of UN-Habitat derives from the Habitat Agenda, adopted by the United Nations 

Conference on Human Settlements (Habitat II) in Istanbul, Turkey, in 1996. Recently India has been unanimously elected 

as the President of the UN-Habitat. This is the third time that India has been elected as the President of UN-Habitat after 

2007 and 1988. 

Statement II is correct: It was established in 1978 as an outcome of the First UN Conference on Human Settlements and 

Sustainable Urban Development (Habitat I) held in Vancouver, Canada in 1976. 

Statement III is incorrect: UN-Habitat maintains its headquarters at the United Nations Office at Nairobi, Kenya. 

Thus, option B is correct. 

89. 

Both the statements are correct. 

Thus, option C is correct. 

About NIA 

 National Investigation Agency (NIA) is a central agency founded by the Indian Government to combat terror in 

India. 

 A dedicated Central Counter Terrorism Law Enforcement Agency. 

 The organization deals with terror related crimes across states without special permission from the states. 

 The Agency came into survival with the enactment of the National Investigation Agency Act 2008 by the 

Parliament of India. 

Its objectives are: 

 To set the standards of excellence in counter terrorism and other national security related investigations. 

 It strives towards developing a highly trained, partnership oriented workforce to excel in its objective to set 
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excellent standards in counter terrorism and national security investigations. 

 It also acts as deterrence for existing and potential terrorist groups/individuals. 

 It aims to develop as a storehouse of all terrorist related information 

 Assist all States and other investigating agencies in investigation of terrorist cases. 

 Build a data base on all terrorist related information and share the data base available with the States and 

other agencies. 

 Study and analyse laws relating to terrorism in other countries and regularly evaluate the adequacy of existing 

laws in India and propose changes as and when necessary. 

 To win the confidence of the citizens of India through selfless and fearless endeavours. 

 
90. 

Option A is correct. John Kerry former Secretary of State USA, announced to launch of a movement by name “Live By 

Paris” by urging concerned citizens across America to join in and honoring the Paris Agreement. 

91. 

Statement I is correct: Uttarakhand High Court, on March 30, had declared River Ganga and its main tributary Yamuna 

India’s first living entities living entities having the status of a legal person. 

Statement II is correct: Oceania is a term used to denote a region, comprising Australia, New Zealand and neighboring 

islands. Oceania consists of four subregions: Australasia, Melanesia, Micronesia, and Polynesia. New Zealand, first in the 

world, accorded a living entity status to its third largest river, Whanganui 

Statement III is incorrect: The Chief Secretary of Uttarakhand, the Advocate General of Uttarakhand and the director of 

the National Mission for Clean Ganga (NMCG) would act as the “legal parents” of the holy rivers. 

Thus, option B is correct. 

92. 

Statement III is incorrect: The project would lead to the partly submergence of Palamau Tiger Reserve. 

Thus, Option C is correct. 

About the North Koel Reservoir Irrigation Project 

 It aims to provide irrigation to 111,521 hectares of land annually in the most backward and drought prone 
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areas in Jharkhand and Bihar. 

 The construction of the project originally had started in 1972 and continued till 1993 when it was stopped by 

the Bihar forest department over environmental concerns. 

 The Mandal dam as part of the project had threatened to submerge portions of the Palamau Tiger Reserve and 

Betla National Park. 

 The National Wildlife Board (NWB) had cleared the project in June 2017 with certain conditions. 

About North Koel River 

 North Koel River rises on Ranchi plateau in Jharkhand. 

 It joins the Sone River a few miles north-west of Haidarnagar. 

 Its principal tributaries are the Auranga and the Amanat 

 It meanders through the northern part of Betla National Park. 

 
93. 

Statement I is correct: FASTag is an identification device that enables cashless transaction at toll plazas without stopping 

the vehicle at the toll plazas as it employs RFID technology for making toll payments directly from the pre-paid account 

linked to it. This system aims to remove logistic inefficiencies at toll plazas and has the potential of saving Rs 60,000 

crore in terms of time and fuel bills. 

Statement II is incorrect: Instead of infrared it uses radio-frequency to detect identity of vehicle. 

Thus, option B is correct. 

94. 

Statement I is correct: Fund aims to bridge the resources gap and facilitate completion of 99 prioritized irrigation 

projects as part of Pradhan Mantri Krishi Sinchayee Yojana (PMKSY) during 2016-2020. The projects under LTIF will be 

completed in a mission mode. 

Statement II is correct: The project which is spread over a period of four years between 2016-20 will have approximate 

Central and state Government shares of Rs. 31,342 crore and Rs.46,253 crore respectively to be entirely funded from the 

LTIF for Central Share and on demand basis in respect of respective state shares.  

Statement III is incorrect: LTIF instituted in NABARD under PMKSY. The fund corpus is expected to be raised through 

budgetary resources from Government of India and market borrowings by NABARD. 
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Thus, option B is correct. 

95.  

Statement I is correct: It opens a big window for private investments in metro operations by making PPP component 

mandatory for availing central assistance on metro projects. Thus, this policy clearly links the government assistance to 

capitalizing the private resources, expertise and entrepreneurship. 

Statement II is correct: The new Metro Rail Policy provides for rigorous assessment of new metro proposals and 

proposes an independent third party assessment by agencies to be identified by the Government like the Institute of 

Urban Transport and other such Centres of Excellence whose capacities would be augmented, as required in this regard.  

Statement III is correct: Setting up of Urban Metropolitan Transport Authority (UMTA) has been made mandatory which 

is to prepare Comprehensive Mobility Plans for cities for ensuring complete multi-modal integration for optimal 

utilization of capacities. 

Statement IV is correct: The new policy seeks to ensure that the metro rail provides last lime connectivity in the cities. 

Towards this, a catchment area of 5 kilometres has been fixed for such projects on either side of metro stations. 

Thus, option D is correct. 

96. 

Gulf Cooperation Council (GCC), is a political and economic alliance of six Middle Eastern countries—Saudi Arabia, 

Kuwait, the United Arab Emirates, Qatar, Bahrain, and Oman.  

The GCC was established in Riyadh, Saudia Arabia, in May 1981. 

Thus, option D is correct. 

97. 

Statement I is correct: It will be country’s long-range missile test facility after secureing the clearance of the National 

Board of Wildlife. 

Statement II is incorrect: It is part of South Andamans. 

Statement III is correct: 0.84 ha of island falls in the Mahatma Gandhi Marine National Parkand 49.138 ha form a 

reserve forest of the Eco Sensitive Zone. 

Thus, Option C is correct. 

98. 

Statement I is incorrect: At present in NABARD, the centre has a share of 99.6 per cent and the RBI has the remaining  
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share of 0.4 per cent. A bill to enable exit of RBI from NABARD and increase authorised capital of the development 

institution six times to Rs 30,000 crore was passed by the Lok Sabha recently. 

Statement II is correct: NABARD has been accredited by Green Climate Fund (GCF) Board as one of the National 

Implementing Entity (NIE) for GCF in India.  

Thus, Option B is correct. 

99. 

Statement I is incorrect: Every member of World Trade Organisation (WTO) requires to accord this status to other 

member countries. 

Statement II is incorrect: No discrimination will be done by a member of state between different trading states who are 

also members of WTO. However, some exceptions have been provided in this regard, for example, in case regional trade 

agreements exist. 

Statement III is incorrect: Pakistan is yet to award the most favoured nation (MFN) status to India and it maintains a 

negative list of 1,209 items which are not permitted to be imported from India. 

Thus, option D is correct. 

100. 

Statement I is incorrect: The Scheme can be purchased offline as well as online through Life Insurance Corporation (LIC) 

of India which has been given the sole privilege to operate this Scheme. 

Statement II is not correct: PMVVY is a Pension Scheme announced by the Government of India exclusively for the 

senior citizens aged 60 years and above which is available from 4th May, 2017 to 3rd May, 2018. The government has 

stated that there is no upper age limit for senior citizens to be part of this plan. 

Statements III and IV are correct. 

Thus, Option B is correct. 

 




